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X1 81 EREFEOT A .

2. 52 FEREEDOT YA

In this picture; the rod CF isjointed to the rod ED on the point E.

The point D isfixed on the base.
Thelength ED is equal to the length CE and EF.

When C moves between A and B, how does F move?

Please choose one from the followings;

a) Itmay wave.  b) It may curve.

¢) It may draw acircle. d) It may draw aline. €) others.
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81(5/23 13:19) L willbe acirck.(4 4 )

T2(5/23,13:23) Yes, Nah. W hy did you choose the C (circle)?

( @5 #=18&L ) f

S3(6/23,13:28) Cause of DE=C E=EF, F is movhg around AB. X5. T2C DI

(E6 D&S HHEZEL)
T4(5/23,13:39) HiNah? You thought pointF & moving

around AB, did not you? P kase let me know which point i the
center of the circk? ( B7 A4 A —2L 1=)

S5(6/23,13:44) Here C & the fxed pont. ( )
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K7 T4THA A —

T6(5/23,13:50) M v questbn is”W hich point is the center of

the circk?” You did not read the probkm ; the C ofrod CF

moves between AB, do you? P kase read the probkm .
S7(6/23,14:01) EF is the fixed rod, C, D is the base point. So I think
that the center 5 C whik CF ismoving around A8 &8 ) (P

T8(5/23,14:03) D ear N ah. Thank you very much. W e want *
to continue it next sessin. Please consider the problem for a

whik and letme know. W ith BestRegards, M asam i
( BT EEITE BBL TLE A A —DTEE)

IEY—K1 -2 HEEMTER
$9(5/25,9:29) Letme know what is the problem .

X8. STTCDHH

T10(6/25,9:35) P kase kBt me know your solition is changed

or not.
H9 S11TOEREHRE $11(5/25,9:40) My previus answer was not correct. This will be (?
acircle. (ODIATIHEMRAITER L. [1025<) *

T12(6/25,9:44)Pkase Bt me know your answer

mathematically. If it &5 a circk, pkase kt me know the center
and radius. Please read the problem, once more.

i i [
K10 S11THAWN=



CNTEZ TN, PR DK ZIHRR, 2o
7o LML, #HBRENED LD M EA A —
L TEZTND DO, ZEIH T2 0n
DT, T12 T, #EHE, FHFEHICRT I HE
XL (WEEHR), MEE b 5> —Eiwte L 5 1cfs
R~L7- (ZFEB),

TEY—R1—3: ZAFdaogynas o
<A LRkA a5 < 0 2 AT,
ZOTE Y — RCIEIHREMN S Z s S L
W5, TI13 T, AL 2 E TRBRIZERE
MBIEDTZMN, S14 T, #BRFITREIL T
(T EA) ) fRFE~OERER LTz, A
A=V E D aIa=r—a VORR
DT AL, TIS TDGS 77 A L&k
FLlz, EZ2AM, S1I6 THIHTDG S &k
EL-WBRE X, SCE RFT7v/LEY, |

WMABEZ FI w7 L0459 b, AFIC
HEHETIZ, RCO#MXIZEALT, S16T
RCOBXNEMRTHD LIET S, TI7T T,
HEHIX 1 30EZ 2ILFTELEST
RCERTZv7+25L, RFENERLEEZEL
ZEEIRIE LT,

BREICEZ D800G, =Y —FK1—3
F T, WBEEIBBCEDaI 2=/ —
VaENTEZ ERDNDLN, TDOA A—
TOITEEWEL, BERE D, DG SIHER
THONDNS TR -o7- Z LIZEJR LT
W5,

TEY—=F1—4 FEHEFBAWVIIELD
EZRFRT L LI LT, kb -
DG SIZIEBNT, S 1 8 Tl niis
MHaAIa=r— kLD,

IF¥Y—K1 -3 H£f##IGSPTYazIL—rLT:

T13(5/28,8:56) Good M orming, Nah. D i you have any
new idea whik these days?

S14(5/28,9:02) How are you. Yes, lam thhking the previous
matter. Pase Etme know the probkm again.

T15(/28,9:05) Yes, Nah. Please use the attachm ent fik

"G SP” to understand the probkm . M ove the pont C !

B11G6SPEFAL T

65.gs# 8Ri%)
. S16(5/28,9:15) Today I think the previous problem and take a F
S conclusbn that if the point C moves around the rod AB then it
E will be a lne and concide the rod AB.( 1 1 D& I=E e
P F.H12, 130&3IF5v5F5) P
= — ———
i C B O T17(6/28,9:18) Yes, Nahar. If you m ove the pointC , F B 0 E D
K12 $16 THCTIE moves on the line. Pkase Bt me know the reason, nextday
YSw A b o ow e ’ - H13 ITOY-UEE
BCERENTYY  mgmig mgaEll 3 0k 1K Sy /L CERERL B 0 HHOBRE

2L fz & fERRL =5,

IE¥Y—F1—-4 EHA

$18(5/30,10:17)

EREIIRT 2 DEHREHTL)

How are you. W hat are you doing now? I

am now thinking the previous matter. The previous m atter I'm istook
F a littk. Thatwas the pontF. Letme write— F
If the pont C m oves around AB then it & line and concide with AB
E butF moves around D F, & a perpendicular. E

T19(/30,10:23) Yes, I am fine and you. 0 h, you

A G BE D

K14 S18TO
Yazlb—*h

were thinkhg about only point C . The probkm is the m oton
of pointF, & not it? Thus, as you wrote, the pointF m oves
on the perpendicuhr line to AB.
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